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5-a-day

Further Maths

4th September

Sketch the graph of .
y=10x*+3x -4 = (51 + 4)(2:(-—[)

clearly show the coordinates of any points
of intersection with the axes.
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Work out the size of angle z.
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P = 9; > 4= 96°
4tz- 180°= 2 = P4°

toppings.

How many different pizzas can she
choose from?
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How many solutions does AR ERS
sinx = p — 2 have between JO noné .
< x<360"7 '
A pizza parlour sells 10 different toppings. IOrk9x § | oy
Beth ord i ith 3 diff t ; = | '

eth orders a pizza with 3 differen 3525 20 | (3]
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